NAME:  _______________________

CHAPTER 6

ALGEBRA REVIEW
Using the following information, write the equation of the line in slope-intercept form.

1.  Slope -4;  point (3, -5)




1.  _____________________

2.  Slope 
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;  point (-2, 8)




2.  _____________________

3.  (-2, -6)
(3, 4)





3.  _____________________

4.  x-intercept 7;  y-intercept -5



4.  _____________________

Rewrite in slope-intercept form.

5.  
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5.  _____________________

6.  
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6.  _____________________

Rewrite in standard form.

7.  
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7.  ____________________

8.  
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8.  ____________________

9.  
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9.  ____________________

10.  
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10.  ____________________

11.  Koyi set aside $850 he earned over the summer to use for miscellaneous expenses while he is away at college.  He plans to use $20 each week.


a.  Write an equation which relates time x and
a.  ____________________ 

     amount in account y.


b.  How long will Koyi’s money last at this 

b.  ____________________

     rate?

12.  If Abby uses 2 cups of flour, she can make 24 muffins.  If she uses 
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 cups, she can make 42 muffins.  Let c = number of cups of flour and m = number of muffins.


a.  Write an equation that relates c and m.

a.  ____________________


b.  If she uses 5 cups of flour, how many

b.  ____________________ 

     muffins can she make?

13.  The following table and graph show the number of travelers each year.

a.  Draw a line to fit the data.

b.  Pick two points on your line.

      ______________
      ______________

c.  Determine the equation for your line.


_______________________

d.  Using your equation, how many travelers 

_______________________

     would you predict for the year 2002?

14.  Use the following information to write the equation of the line in slope-intercept form.

A.  Through the points (4, 5)  &  (7, 10)


A.  _____________________

B.  Parallel to the line in Part A and through


B.  _____________________

      the point (-2, 3).

C.  Perpendicular to the line in Part B and through

C.  _____________________

      the point (5, -3).
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